st is the PAMATY funciion of
srorage of data L
EXET ution of § instructions
o) [splay ﬂmm
Neswork communication

- latile

Al R.-‘wi
py CHU
¢} Hard Drive
Py Monitor
What is the main function of an inpet device
B) Process data

() Enter data into the ¢ - i
D) Store data permanently |

What is the purpose of an operating m?
A)  To perform arthmetic calculations
B} To nmnngehardwm resources and aun application”

D)  Tostore and ru!riﬂr: data

Which type of software is designed to protect 2 computer from vi

~A)  Word processor

' “B) Antivirussoftware
) Web browser
D) Spreadsheet software

6. Whatis the primary functian
A) To _u_;-- :
B) Toprovide
) Tocon



jeviced

Which o the f leuln-.-r-J"P’"r"'-"-'“”t'l"""”r'“””mI
AN F 1 Fo¥ e

H.

Al Prinier

B | Speaker

) Monitor

B ] K ey b |

iy
5 g

™ Wikich oF i following is ot 3 high- level programming hang

Al Pvihon

(4 1] Assembhly

) bnm'n

N G

weiple?

10,  Which data struciure uses the Last=In. First-Out { LIFO) princip

A) (hscue

I|-| Hl-h'L

Cl Amay

D} Linked Lixt

R

1. What s the purpose of an algorithm in compuler SCIENCe.

M) Toexeculen proErm
“B)  Toprovide s step-by-step solution (o a problem

)  Tostore data in memory
L) To create a user interface

12.  Which programming paradigm 15 associated with objects that encapsulate data and

behavios?
Al Proceduril
B}  Functional
C)  Object-Oriented
D) Imperative

13, What is the binary equivalent of the hexadecimal number " | A"

“A) 1010
8)  1000]
<)o

D) 11100

14.  What is the purpose of s compiler in programming?

—

Al Toexecute the program

B)  Toconvert source code into machine cide
Cl Tode bug the program

D) To manage memory gl Calion

) (4)
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19.

an,

1L

il iyl

Al
iy Hyper

[
[}h
which

Al
g1 Mons

L
L}

Wwhat type of softwarn: is reapomuibile for

(Set- D)

_ §ITMI, saand for in b (Ll e
Ttk Toxt Markyp LangLogy

Teat W mnagermeni L grreagie

s ] ."-lmi;-u'-! siFigniag

F Iyt

gy Trand
Hyper Teat s up Langgungs

af the follewing is not an et el

Keyhianl

Praniar
LoanneT

L CTRRE[R A

AT interface’

A} Sywiomm sofbware

i Application seftware
) Open-source softwire
) Freowans

1] 1

What 1% ihe primmoary charucteristic o Crjsemegr

It is always free of charge.
mvi]i 11C0

LY
The source code is frecly available and can !

B
corporation:

1. Iisalways developed by large
p)  Nisneverused in commetcinl application:
which organkmation oversees the dev clopment of th

a)  Google
Hy  Mozilla Foundation
1 Microsoll

[y Apple
What is a primary key in MS Access?

A} A unigue identifier fora record

Bl A way o format text
C) Anypeolrepont
D)  Aform control

What docs SQI. stand forin the context of MS Acc

A)  Structured Query Language
B) System Query Logic

) Structured Query Logic
) Systern Query Language

(5)

rich POV bikiee

s byrevow ser Finefon?
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17, Hew do eompaler Viruses Ty Pl o el

Ll Tl _.'_'|||| when ] comitact v b il llll\.l'”'lrlllll_'l"\
B Vieeoall atachients, downloads, mnd infected files

Th i sk disdd Fe ok L
i d FERER ] WITRCss AT Wi LI

28, Which ol the 1
uman objective of computer viruses!

HEE PCTIOMMTUEnCe

—

onling CECUTILY
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Tisad
o bk procdhecing states b Hal
¥ ¥

iy T

,

=

=
—

[lewin informeation iy NOT collected turing the census 153 Inickig 7
8 Which afthe followin,
) Manial stales

H)  Educatronal qualification
L) Salary per month
{3 Cheypation
9. Last census of India was conducted in
1) Febh 2111
) March 2014
C) Feb 202

) Feb 2073

L5

0. Which of ihe Wollowing was NOT ruler of Jammu ang Bashimir?
1) AlRingzeh
B8] Maharj Ranjit Singh
L) -‘\'1ilil.IJ‘.1__I-:{ Hilah Singh
13y

Lhigen Vi lorin
L,

(L B

’.‘__——_—-_——'—'_ I
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it i Jargret bakd
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i ihe gl ks prroducing plale ©
Wi 15 the highe

sshmir Union Terriory }

b o diedrbet an Jammi and K

Jammu and

iBe s1atement is true regarding sowing ol wheat m

(- Nov in Kastimir and in May in Ladakh
/ 1y in K ashmir and nol sown in Ladakh

LK ashimir, wheat 1 sown m May
pboth, Ladakh and Kashmir

g don't come under the purview of Right o Education?

inded by Private Funds

(9) (P10







X S |

FLER

Tri Japiusiniid ] B aaliraar, i livaees narmbsee G 1

Al

I
15
4

13}

Wi o e Tolkivwing mnde " Bud Musiid™ in Kb

A Sl Mar

By Sulien Sikandar

O Aurangeeh
) Hmpchan

£, Managors sel mrgels and decide thele organiation ca

Al What
By How
) Which

) Because

56 What are you in the kitchen cupboard?

A)  Lookingin
B) Lookingon
Oy Looking to

-3} Looking for

57, "Man proposcs, _ disposes”. Filln the blank space in this saying wilh my
one of the following words -

A} Woman
"‘B)  God

) Young girl

D) Goddess

the best apples from the basket.

£8. She _
i) Choose
.B) Chose

(') Was chosen

) Choosing

(Set - D)






kivvw b was e and whiere :Ii-l.l.h-. -. it

e N canpe from’?

e ilid ke come from T
ere he carme frodun”
¢ B came from?

i in the blank in the following

. Replace the word ‘hute’ in the sk

bword 'Greek' means -




Tl R
T Baknab o miiakd i

o LLL
N Fraaeri II‘III
(ET] i .
iy | i r. s
D ol fl ™
slcisiog, the wiorrd Tiardly' mesis ey
i | . soued Tk, ™ To this senioncs, | ] Caikg
ri, He Randly fricid hiar o |
W i':.-l .:lllr.uul i the ciertect anwer j I| .
L) A fpinst mod
Fii S i |'.I.'|'- . 1
) Inadilipent way il \
) Very seriously I
M, "Where theie ts there is a way.” Fill in the blank space in hig T ey .I
with any ane of the following waonds
Ay Wil -
B Shall ¥
L LA T
D Wisiild
75, Yesterday Rahim as well ag Karim present inthe mecting. " Fill in the
1 this sentemce I-"-'l”l“l'll’.'Iﬂllll_‘!ul!nu.n::. :H 8
L) Has been 4
B Was
L} Had been
D Were
76. The expression T hink out of the hox " means
Al Come out of the box and then think 3.
B)  Think ina conventional ranner
L) Think in an innovative manner
”.l Think inzide the hay
r i A LT TR T wis animals ane those who - :
Al Eai all kinds of fond, i

B) Liveon verelables
C)  Livein water
D) Livein flocks

18, 'Hullhukv.mf!-iquutnu_-'.'.

‘ ith this kind of mis behaviour was known to me, This senlons
B =

"Al Fully correct
H) E‘.u‘liu[l}, comect
C) !-iuhamnhnr]}'

Incormect
|nl-:v|}rﬂ:|:l

(14) :
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FOYNR, ERXPRA PR RN,

R ". U
LV
ITY T

KLU

P ALAR H FUNT
T 1 I
Al
{1 5T
eI CAl

S

CWE, FOH, RELT

Al XBS
B TGU
) MCO
AUl

» Flow: River ; Stagnant+ 7
AV Rain

Hj Stream
. II_I |irlnl
1= FJ'] E-J-flnlr
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[ opclasions

| K T dance I:'_I.:.,.
X {sd [ul'] a
s Al mv anelusion Tolk
By Only (21 conclision follows
i gt Pl e 2r Pl o s
i st { 1) Edar 1} Tl o

K9 g temeniv: All ithe harmomums are insirument

Al the instrumenis are Mittes
Concluslons!

| LI the DUlEs are instruamenis
%

Irmianiims are 1Hiules
Jusecan Fol bovsw' s
fusion [ollow

i follows

L} e rther b maor {20 ol bovws

. Statemenis: Some mingoes are yellow, Some txo are mangoes
Conclusions:

! hTi] TSN NG hden
LXD )

t L LIl i 1 co

A vyl fow
seslin i
welsion follows

| J:‘-.l'. I < b o ;._.. 1 r..“_l.“ "

L) Esther (1) or (2) follows

. |.}| r"";l'i|||:.' I | I TR | ~| :'llll Iil'..q. 5]
el -
i 1y} (1)
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e dangery
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v By tweln coniclianiog
g1-93} ' cigtement ToHloY og by (Wi ooneii " T
pt 1 o 8 8IVTL i the statemeni to be true then considey, "
"y gi ™% s LA H R &
i e L] i e . . cally follovwi hevond § o
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il gfaleinenl

TLL. ol E
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i

ailed mamy lop moking Firaricial institution by gy
acrl e R

IIIII_||II e L LLTIEERL
il s ol Lheag 18
lu-'l"'ﬂ"..p |'~-|I!".'.I
e ; Hrectors of the linancial mshitules iy
T siild appoinl EHTEEIT . - King iy
i yermi IrlIL_l_Ilth”“._.,.r|_h.‘-|..-|..|||m|rn_- arcn ol linance
1ol 1K =
nif i} - ' the inepcial inetitate should hve '-“THILtLII‘I”"“'-rII'IH:'-1Eh
d thiess 4 e L :
o take oo IS L | work carried out by the institute
i . - . o ] Ty
e L T _.“"._" ] fpnalt i I"I A
|||II|_|1_|||' L"”“‘J ; |'|'||-I v _..||-|..'\-:.|||:-.'.|I|'I Lk |
oLl T R iy rl..u--_ i 3§ e PUEIOE finl lovies
. 5] “” e P
ECfy i .
ul | i ,||.-r|-1'1"'”"”""‘
[ .Ill.'\' '
HEEory o :_l,,.~|._1|'_"Ir'-'“l"'-""‘

.I
ents: Population increase coupled with depleting resources 1s going lo e the
g Sk :

| i of many developinge countnes in davs to come

| ||,|..'|ﬁ""'"|":
e population of developing countries will not continue to increase in futys

swtll be very difficult for the govemments of developing countries to PrOvide iy
popbe docent quality of life

menis are ﬂul;-: 0 Dely (1) conelusion Tollows
Oelv (2} conelesion follows
v ¢ Endber (1) or {23 follows

: D Boch (1) and (2 follows

93, Swements: Prime age schoo

-gomng children in urban India have now become avidss
(1%

ol s more regular viewers of ielevision, even in households w ithout a TV, Asa renk
Fiere uts been an alarming decline in the extent of re

adership of new Spapers
Cosclasions:

| il 5 ! J
Method of increasing the readership ol newspapers should be devised
Ateam of experts should be sent to other countrie

Aue 3 1o study the impact of TV. 00
“e readership of newspapers.

Vo Ualy (1) conclusion follows
Bl :

_ ' Unly (2) conclusion follows
Y Ei

1) or (2) follows

Neither (1) nor ¢ 2) follows




H Menr is retated to "Vegetarian' in the same woy a8’ Aleohol i related

5 AFTE
‘Al Teetotaler = Ui X
B} Smole
O Waler

Iy Dietician 1

il I the same way ag horeographer” is related 1o

us, hel' fk rolatedh (o yen : i

BT, I+ nweans

L8

A)' Bage Al

B Musi )
* (Y Dance .l

||-|.'.'-|'1||:'
[y [Fhodosry (1
hat is relnted 1o the third number in the o

r L b apion tha b e same way as the

select e ) % oo
Sele ated 1o the first number, o - § 25 2 ™

numyber is rel L

Al T
Bj
oy R "
D) 75 ‘
‘- means 0, < means =" and - menns * =" then what will ke |h1_=1.:|lu¢“ Al
the following expression, 18 +6 - 214+ 3= 12=1 X

: |_|,

A 92
o B) 103
)y 93

Py 107

Introducing a girl, a boy said, “She is the daughter of the mother of the daughter of my
aunt.” How is the girl related to the boy?
vl MNiece
8) Aunt
C)  Cousin
D} Daughter

One moming, Manish and Al were talking 10 each other face 1o face at a crossing.

i i _ §Fiped B 1)
All's shadow was exactly to the left of Manish, which direction was Manish facing? .

« A)  East

H) Souih -
C) West o
8] North "L‘-' I"J.

4

(Set- D) (18) i (Se
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Wi ok Cup Semi Final Matches
gt Cup Finals Maich
preanizing the World Cup
, Finslizing the participating teams A
et of the World Cup?
g 1. 1.4
Yo 4,1,2.308
P B
i, ! 3 -1 q

rl'l'.l. Lot K H !":I.r“{' -|l“|-l ran ...:"' L]'I'I T4 .||”_|lq' ﬁu““. |||-|.:ﬂ lltmfd

right and '
et fr lr minutes at the same spot gl and rin 10 km, Hew

and then aguin turne
gl ! ed right and rin 20 k. Alkes
bewmed felt and ran 20 km to the cricket groun W

s Bk Lo neach hl'\ I||.1|'|'|.'_- h_l, .\Ih‘ il rivute’?

i 1ikm

Bl X0km

Ll Ak

"0 Wim
HL. T3

V ul the quadrilateral are in Ratio 4- 5
VAL 607, 08T, 1560
JB ag 4 {

o 0P, 1 200132°
607, 1220 1260

“ o N !3[]‘“‘ Izﬂn

*-'I;tr.nr

i How many kilometers will he kel
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Iu*' Ui fourih

ol one third o twor [ o mimaber §s 15 Winat will e 40P of that e

A |20
By aso
Cy 270
* D) JR0

5. The o PrOARINn by IRLAOD0 is equal
A) 010213
o« H) 002131
™ 0 { 52001

Dy o0.21000

106, A man sells twi houses ol the mte of Rs. 1.993 lakhs each. On one, he gaing 3% andog
ather he loses 5%, His gain/loss percentage in the whole transaction is
A) Loss = 025%

B) Gain=0.25%
%  Loss 2,55

[  Loss = 25%

107. A has to pay Rs. 220 to B after 1 year. B asks A to pay R, 110 in cash and defer the

payment of RS, 110 for 2 years. A agrees 1o i1, If the rute of interest be 10% per annum,
in this mode of payment.

A)  There is no gain or Joss 1o any one
B) A gains Ks. 7.34
C)  Aloses Rs. 7.34

« ) AgamsRs. 11

108. Bombay Express left Delhi for Bombay at 14.30 hrs., travelling at a speed of 60km/h
and Rajdhani Express left Delhi for Bombay on the same day at 16,30 hrs., travelling at
a speed of 80kmph. How fur away from Delhi will the two trains meet?
Al 120km

31 360km
€} 480km
DY S500km

(Set - D) a0 2
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p can do plece of work jn 73
'In'P-;:fdngt In What time can A ﬁﬁn mcm‘hm“ b o

A) 1 50 days

) days
1] | 240 day I
) (00 days - |

m g days | "

130ty =0, then xiy iy :
53 or 1:2

II'B" I ar

A

4]

0 ;r.hml_v : |
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[ i1 only . {
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15 0r 21

11 : :_
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D) 1 1,4y

112. A ciain sum of mos ,F: sle intereskamout to Rs. 1012 in :u*z. :
Rs.1067.20 in 4 years. The fate of interest per annumiis bt
Al 25% ' " 1
B) %

T (0 i |, then

B)

=
-
—

Ej 48

D) s

. el qin QRO
LA _

B)

Uﬂiqug solut
Two solution:
-q lﬂ.ﬁn“u 50 |I |

D) N
[Bﬂ! = Tui Y m]m
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